
UTLX Feature Comparisons

Drawing Quantity Capacity Built Builder Truck Centers Over Buffers Bolster Design End Sill Shape Tank Dia Tank Length Dome Dia Hatch Cover Safety Valves Spacing Dome Platforms Brakes Brakes Trucks Trucks Notes
built inside as built renewed as built renewed

24000 24999 1000 6500 1916-17 ACF 21' 6" 32' 2" Cast - 4 Rivet Close Arch 76" 28' 1-5/8" 48" Screw 1 Centerline 1 - Brake Side K AB Archbar Cast Steel
20350 20849 500 6500 1916-17 PSC 21' 6" 32' 2" Cast - 4 Rivet Spread Arch 76" 28' 1-5/8" 48" Screw 1 Centerline 1 - Brake Side K AB Archbar Cast Steel

SSC 39506 18850 19349 500 6500 1916-17 SSC 21' 6" 32' 2" Cast - 4 Rivet Spread Arch 76" 28' 1-5/8" 48" Screw 1 Centerline 1 - Brake Side K AB Archbar Cast Steel
18500 18649 150 6500 1916-17 UTLX 21' 6" 32' 2" Cast - 4 Rivet Spread? Arch 76" 28' 1-5/8" 48" Screw 1 Centerline 1 - Brake Side K AB Archbar Cast Steel

UTLX 3168 30000 30999 1000 10000 1917 SSC 26' 9" 37' 5" Cast - 4 Rivet Close Arch 87" 33' 8-3/8" 60" Screw 2 Narrow 1 - Brake Side K AB Archbar Cast Steel
31000 31999 1000 10000 1917 ACF 26' 9" 37' 5" Cast - 4 Rivet Close Arch 87" 33' 8-3/8" 60" Screw 2 Narrow 1 - Brake Side K AB Archbar Cast Steel ACF Lot 8370

  
SSC 43165 32000 35499 3500 10000 1919 SSC 26' 9" 37' 5" Built Up - 6 Rivet Straight 87" 33' 8-1/2" 54" Bolted 2 Narrow 1 - Brake Side K AB Andrews Cast Steel

35500 36249 750 10000 1919 Cambria 26' 9" 37' 5" Built Up - 6 Rivet Straight 87" 33' 8-1/2" 54" Bolted 2 Narrow
36250 36499 250 10000 1919 PSC 26' 9" 37' 5" Built Up - 6 Rivet Straight 87" 33' 8-1/2" 54" Bolted
37000 37399 400 10000 1919 UTLX 26' 9" 37' 5" Built Up - 6 Rivet Straight 87" 33' 8-1/2" 54" Bolted
50000 50499 500 10000 1919 PSC 26' 9" 37' 5" Built Up - 6 Rivet Straight 87" 33' 8-1/2" 54" Bolted Built with heaters

  
37400 38399 1000 10000 1920 GAT 26' 9" 37' 5" Built Up - 6 Rivet Straight 87" 33' 8-1/2" 54" Bolted 2 Narrow 1 - Brake Side K Andrews
38400 39244 845 10000 1920 GAT 26' 9" 37' 5" Built Up - 6 Rivet Straight 87" 33' 8-1/2" 54" Bolted 2 Narrow AB Cast Steel

SSC 47389 23520 23844 325 10000 1923 SSC 26' 9" 37' 5" Built Up - 6 Rivet Straight 87" 33' 8-1/2" 60" Bolted 2 Wide 1 - Brake Side K AB Andrews Cast Steel
To be converted to X-4 
by UTLX

27825 29324 1500 10000 1923 ACF 26' 9" 37' 5" Built Up - 6 Rivet Straight 87" 33' 8-1/2" 60" Bolted 2 Wide
SSC 47389 29325 29999 675 10000 1923 SSC 26' 9" 37' 5" Built Up - 6 Rivet Straight 87" 33' 8-1/2" 60" Bolted 2 Wide 1 - Brake Side K AB Andrews Cast Steel

36500 36999 500 10000 1923 Cambria 26' 9" 37' 5" Built Up - 6 Rivet Straight 87" 33' 8-1/2" 60" Bolted 2 Wide

22500 22799 300 8000 1927 ACF 26' 9" 37' 5" Built Up - 6 Rivet Straight 78" 33' 5-1/2" 54" Bolted 2 Wide 1 - Brake Side K AB Cast Steel Long 8000 ACF Lot 484
UTLX 3612 22800 22974 175 8000 1927 GAT 26' 9" 37' 5" Built Up - 6 Rivet Straight 78" 33' 5-1/2" 54" Bolted 2 Wide 1 - Brake Side K AB Cast Steel Long 8000
UTLX 3612 PX 2750 PX 2849 100 8000 1927 GAT 26' 9" 37' 5" Built Up - 6 Rivet Straight 78" 33' 5-1/2" 54" Bolted 2 Wide 1 - Brake Side K AB Cast Steel Long 8000

20996 21295 300 8000 1929 ACF 26' 9" 37' 5" Built Up - 6 Rivet Straight 78" 33' 5-1/2" 54" Bolted 2 Wide 1 - Brake Side K AB Cast Steel Long 8000

UTLX 3735 27146 27324 179 10000 1930 UTLX 28' 0" 38' 8" Built Up - 6 Rivet Straight 87" 33' 10-3/4" 60" Bolted 2 Wide Both Sides K AB Andrews New Tanks from ACF
27325 27824 500 10000 1930 ACF Built Up - 6 Rivet Straight

48000 48499 500 12000 1930 ACF Built Up - 6 Rivet Straight Bolted 2 Wide Both Sides K AB Cast Steel

48500 48670 171 12000 1930 UTLX/ACF Built Up - 6 Rivet Straight Bolted 2 Wide Both Sides K AB Cast Steel
New Tanks from ACF on 
existing frames

58650 58654 5 4500 1935 ACF Built Up - 6 Rivet Straight - 37? Bolted 1 On Elbow Both Sides ? AB Cast Steel Built with heaters

ACF 5145788 7500 9499 2000 6500 1937 ACF 21' 6" 32' 2" Built Up - 6 Rivet Straight - 37 76" 28' 4" 48" Bolted 1 Centerline Both Sides AB Cast Steel

ACF 6146626 17000 17799 800 8000 1937 ACF 21' 6" 32' 2" Built Up - 6 Rivet Straight - 37 85" 28' 7" 54" Bolted 2 Wide Both Sides AB Cast Steel Short 8000

5 4500
4150 6500  

800 8000 Short  
875 8000 Long

12924 10000
671 12000

Multi-compartment Tanks

Quantity Capacity Built Builder Truck Centers Over Buffers Bolster Design End Sill Shape Tank Dia Tank Length Dome Dia Hatch Cover Safety Valves Spacing Dome Platforms Brakes Brakes Trucks Trucks Notes
built inside as built renewed as built renewed

59855 59864 10 4600 1934 UTLX/ACF Built Up - 6 Rivet Bolted 3 Elbow Both Sides AB Cast Steel

Tanks from ACF 
Underframes shortened 
to 35'5"

(1225 1234)
59837 59849 13 4600 1935 UTLX/ACF Built Up - 6 Rivet Bolted 3 Elbow Both Sides AB Cast Steel Tanks from ACF
(1253 1265)                                                      
59834 59836 3 4600 1935 UTLX/ACF Built Up - 6 Rivet Bolted 3 Elbow Both Sides AB Cast Steel
(1250 1252)

ACF 5145750 200 549 350 6500 1936 ACF 23'2" 33'10" Built Up - 6 Rivet Straight - 37 76" 28'2-1/2" 42" Bolted 3 Elbow Both Sides AB Cast Steel ACF Lot 1523 Heaters
(3625 3974)
59800 59814 15 4500 1936 ACF 23'2" 33'10" Built Up - 6 Rivet Straight - 37 63-1/4" 28'6" 42"
(1275 1289)

50 199 150 6500 1937 ACF 23'2" 33'10" Built Up - 6 Rivet Straight - 37 76" 28'2-1/2" 42" Bolted 3 Elbow Both Sides AB Cast Steel
ACF Lot 1626 No 
Heaters

550 599 50 6500 1937 ACF 23'2" 33'10" Built Up - 6 Rivet Straight - 37 76" 28'2-1/2" 42" Bolted 3 Elbow Both Sides AB Cast Steel
ACF Lot 1626 No 
Heaters

ACF 5154714 1300 1399 100 6500 1939 ACF 23'2" 33'10" Built Up - 6 Rivet Straight - 37 76" 28'2-1/2" 42" Bolted 3 Elbow Both Sides AB Cast Steel
ACF Lot 1955 No 
Heaters

(2824 3123)
59815 59819 5 4500 1937 ACF 23'2" 33'10" Built Up - 6 Rivet Straight - 37 63-1/4" 28'6" 42"
(1325 1329)
59820 59830 11 4500 1937 ACF 23'2" 33'10" Built Up - 6 Rivet Straight 63-1/4" 28'6" 42"
(1330 1340)

59400 59499 100 7300 1921 UTLX Built Up - 6 Rivet Bolted 3 Elbow Center Dome Only.  One Side? K Andrews Cast Steel
(4300 4399)
59390 59395 6 8000 1924 UTLX Built Up - 6 Rivet Bolted 2 Dome Two - One Side for each Dome K Andrews Tanks from ACF

(59109 59115)
then(850 855)

59900 59999 100 6500 1931 UTLX/Graver
New Tanks from Graver 
on used underframes

(2625 2724)

Number Series

Number Series
(renumbered)

 2017 RPM Steve Hile 9/15/2017


